OXFORD

INTERNATIONAL
AQA EXAMINATIONS

MATHEMATICS

(9260)
Paper 2 Core
Example responses with commentary

For teaching from September 2016 onwards
For GCSE exams in May/June 2018 onwards

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved.



INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

This guide includes some examples of student responses to a selection of
guestions from the summer 2018 Maths Paper 2C.

The question parts are reproduced, along with the final mark scheme,
student responses and a commentary from the Lead Examiner on each of
the students’ answers.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
08
8 During 2017, Vietnam had

a population of 95 000 000
one doctor for every 2300 people.

How many doctors did Vietnam have at this time?

Give your answer to 2 significant figures.
[3 marks]

Answer
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments
95 000 00O = 2300 M1
8 [41 304, 41305] Al may be implied by correct answer
41 000 B1ft | ft any number >2sf rounded correctly to 2sf

tional AQA Examinations and its licensors. All rights reserved. 4




INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

B Dwuring 2017, Vietnam had
a population of 95 000 000
one doctor for every 2300 people.

How many doctors did Vietnam have at this lime?

Give your answer to 2 significant figuras,
[3 marks]

Answer U \ g?}Qq . BBHWW__

EXAMINER COMMENTARY

The student has shown the correct calculation for the first mark and an
accurate value for the second mark. However, the student has rounded to 2
decimal places rather than 2 significant figures so lost the final mark.

2 marks out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B
8 During 2017, Vietnam had
a population of 95 000 000
one doctor for every 2300 people.

How many doctors did Vietnam have at this time?

Give your answer to 2 significant figures.
[3 marks]

2300 = 95000 000 =2.42

Answer 2 .4

EXAMINER COMMENTARY

The student has used an incorrect calculation so did not gain either of the
first two marks. However, the third mark is an independent mark for any
value with more than two significant figures rounded to two significant
figures and the student has achieved this. It does not matter that the answer
does not follow from the calculation, but it is vital that the rounding must be
shown as it is here.

1 mark out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

10

10 Work out i + l
4 1

Give your answer as a mixed number.

You must show your working.
[3 marks]

Answer
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments
33 P 28 M oe common denominator with at least one
m m numerator correct
oe fraction
s1 with comrect working seen| A1
44
10 ft their improper fraction correctly converted

17 ]
1H with correct working seen | A1 ft with M1 awarded

Additional Guidance

Working in decimals scores MOAQ unless recovered
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

3.1
4 11
Give your answer as a mixed number,
You must show yvour working.

e I A= ST I

10 Work out

Answer J; = 5 ?

EXAMINER COMMENTARY

The student has worked out the correct improper fraction and shown the
required working of the two fractions with a common denominator, so has
been awarded the first two marks. However, the student has misunderstood
the term ‘mixed number’ and given the answer as a decimal rather than an
integer with a proper fraction.

2 marks out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

3.7
11
Give your answer as a mixed number.

You must 5_2?\\: your working.

10 Work out

-~ [3 marks]
3 =
| Gtz .
3 - ”J _____ = Ty == Ho‘m

campan ANt s X = qg__:_%}_:l @r

__35ta =S5q
19;
Answer I 4(( _

EXAMINER COMMENTARY

Although the working is not very easy to follow and slightly unconventional,
an attempt to use a common denominator of 44 with one correct numerator
can be seen for the first mark. The student has made an arithmetic error of 7
x 4 = 21 which resulted in an incorrect improper fraction so the second mark
was lost. As the first mark was awarded, and sufficient working has been
seen, the final follow through mark for conversion to a mixed number has
been achieved.

2 marks out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
14
14 A circle is cut out of a rectangular piece of card as shown.

Mot drawn

sccurately

18¢cm
25em
Work out the shaded area.
[3 marks]
Answer cm?
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments
25 = 18 or 450 M1
T=(18+2)

14 M1

or [254.3, 254.502]

[195,196] or450 - 817 Al
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A
14 A circle is cut out of a rectangular piece of card as shown,
’ = < Mot drawn
e = accurately
~ |18em
25cm
Work out the shaded area.
[3 marks]

[EX L5z 5450t
L 17 PP
450 - =iz 5195.53]

Answer ) 51495 55| cm?

EXAMINER COMMENTARY

The student has shown the correct method to work out the area of the
rectangle so, even though the wrong evaluation is given, the student has
been awarded the first mark. The correct method for the area of the circle is
seen to gain the second mark. The final answer is incorrect, despite a fully
correct method. This demonstrates the importance of showing working
because the final answer alone would have scored 0.

2 marks out of 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B
14 A circle is cut out of a rectangular piece of card as shown,
Not drawn
accurately
25cm
Work out the shaded area.
[3 marks]

2% 1% =yso o
7 £ \3 =56 SusEE 178

_ NSp—S1=734%

Answer 3C| % cm?

EXAMINER COMMENTARY

The student has worked out the area of the rectangle correctly for the first
mark. However, as with many of the weaker responses, the student has
used the formula for the circumference rather than the area of a circle and
so has made no further progress.

1 mark out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
16
16 The base of a cuboid is a 15 em by 5 cm rectangle.

4cm

S5em

15 cm

The top and base of the cuboid are red.

The other four faces are blue.

Show that more than half of the total surface area is blue.
[4 marks]
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Answer

Mark

Comments

16

15 x 5 (x 2) or 75 (x 2) or 150

M1

4=150r60ord =50r20

M1

4= 15(=x2)+4=5(x2)
or 160 or 80

ordx15(x2)+4x5(x2)+5
= 5 (=2) or 155 or 310

M1 dep

dep on previous M

150 red and 160 blue
or 155 < 160

or 155 = 150

or 0.51 or 0.52

or 75 and 80

or 150 _p5161.)>05

310

Al

Additional Guidance

ignore cm®

310 implies M3
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

16 The base of a cuboid is a 15 cm by 5 cm rectangle.

to

4 cm

S5cm

15 cm

The top and base of the cuboid are red.
The other four faces are blue.

Show that more than half of the total surface area is blue,
[4 marks]

red @ I5A5 %Lz Soemt

blug sfts¥tpxe) #(Sxixa) = 160
|50 tf6o= 310 KB
Halt st el 10105 LS 155

Lbo 3155

EXAMINER COMMENTARY

The student has worked out the total red area and the total blue areas and
then compared the blue area with half of the total surface area. This is an
excellent example of an accurate and thorough argument.

4 marks out of a possible 4 awarded.

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 17



INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

16 The base of a cuboid is a 15 em by 5 cm rectangle.

ved

dom|t e !
/_ A o 5om

The top and base of the cuboid are red.
The other four faces are blue.

Show that mere than half of the tolal surface area is blue.
[4 marks]

fed = ISx &= 15 = 15x2= 150

b 1) 5xU=20 - 20x 2= U0
D). Bxu60 D 0¥ 2= 10

EXAMINER COMMENTARY

The student has worked out the total red area for the first mark. The second
mark was for either blue face so this was also awarded. Had the student
totaled the 40 and the 120 to give the total blue area this would have gained
the third mark and, potentially, the fourth because the areas have been
labelled red and blue. This student did not have very far to go to complete
the solution.

2 out of a possible 4 marks awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT C

(A7) 1S WOOT W G WU 1O O T el W Bl Y w8 Wt T ] e i i

~

Biv wn Ly

4cm

5cm

15¢cm

The top and base of the cuboid are red.
The ather four faces are blue.

Show that more than half of the fotal surface area is blue.
[4 marks]

\5ASAY =200

150 = Soed dop end s 1\ SO
e

EXAMINER COMMENTARY

The student has worked out the volume of the cuboid which was a fairly
common misconception among weaker students. However, the total red
area has also been calculated and this does gain the first mark.

1 mark out of a possible 4 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION

20 (b)

20 (b) Towns A, B and C lie in a straight line.
B lies between A and C.
A and B are 5 cm apart on the map.
The actual distance from A to Cis 8 km

Show that B and C are less than 12 cm apart on the map.
[3 marks]
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments

Alternative method 1
§-05=50rb55 M1 oe
their 5.5 = 100 000 = 50 000  |M1 dep
11 Al
Alternative method 2
8 = 100 000 + 50 000 or 16 M1

20(b)
their 16 - 5 M1 dep
ih Al
Alternative method 3
12+50r17 M1
17=05 M1 dep
85 Al
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

20 (b) Towns A B and C lie in a straight line.
B lies batween A and C.
A and B are 5 cm apart on the map.
The actual distance from A to Cis 8 km

Show that B and C are less than 12 cm apart on the map.
[3 marks]

Bt Eryrt =t . 2085 = (b .

_fézcm —&run = | | g

EXAMINER COMMENTARY

Students that used this method generally were more successful because
there was only one conversion (8 km to cm) necessary. This student has
correctly converted the 8 km for the first mark. The second mark is gained
for the subtraction and the final mark for completing the solution accurately.
It is often a good exercise for students to review solutions using different
methods and discuss which method is likely to be more straightforward.

3 marks out of a possible 3 awarded.

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 22



INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

20 (b Towns A, B and C lie in a straight line.
B lies between A and C.
A and B are 5 cm apart on the map.
The actual distance from A to Cis 8 km

Show that B and C are less than 12 am aparl on the map.

[3 marks]
A v @& = 2.85km.-Sm
A 40 C= Em = ¥Bem
B and €= 8- 2.S = S.Scm

s 4han 1 e qpont

& Fm

EXAMINER COMMENTARY

The student has correctly worked out that 5 cm is 2.5 km and subtracted that
from the 8 km to work out BC = 5.5 which gained the first mark. 5.5 cm
rather than 5.5 km was condoned, especially as the method clearly showed
the intention. It was common to see many students that used this method fail
to realise that 5.5 and 12 were in different units so one had to be converted
in order to compare them.

1 mark out of a possible 3 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
26
26 ABCD is a parallelogram.
o
Sy + 407
Mot drawn
accurately
A
Work out x and y.
[5 marks]

Copyright © 2019 Oxford International AQA Examinations and its licensors. All rights reserved. 24



INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Answer

Mark

Comments

26

fx+40=6x+20

M1

x=20

Al

bx+40+y+35=180

or 5 =their20 +40 + v+ 35 =
180

or6r+ 20 + v+ 35=180

or 6 =their20 + 20 + vy + 35 =
180

orbx+ 40+ y+ 35+ 6r+ 20+
v+ 35 =360

or 2 = (v+35)=80

M1

oe

y=180 - 40 - 35 -5 = their 20

or2y=360-40-35-20-35
— 11 = their 20

ory+35=40

ory=180-20-35-6 = their
20

M1dep

oe

y=5

Al
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

26 ABCD iz a parallelogram.

MNot draven
accurately
Work out x and y.
[5 marks]
Becomce ARCD o A palaeloguava . $0 A= [( 5
_Etape= bxta0°. bX+20°+ LA =L80°
=Y =-3p° | bxad’t L = 1PV
: s I | L Do” +24=1%0°
S i ZA - ‘{;_D.."

oo HUAFRN =
Y= 24

o !Q L] p= __é& EI o
EXAMINER COMMENTARY

The student has correctly equated opposite angles for the first mark and
then solved the equation for the second mark. The student has miscopied
their own work and 6x + 20 has become 6 % 20 (in the highlighted box). The
examiner has given the benefit of the doubt that the intended method is
correct and would have led to the correct value of y had the slip not been
made.

4 marks out of a possible 5 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

:213 ABCD is a parallelogram,

Sx + 40°

Work out x and y.

| 61: Y20 * bxvo

X ¥ao: 40

L]

[5 marks]

x . o

gl [ SRS & et

EXAMINER COMMENTARY

The student has used the fact that the opposite angles are equal to form an
equation and then solved it to work out the value of X. However, the student
has not carried on to use the fact that the interior angles sum to 180° to form
an equation in y. Interestingly, some students did not understand about
opposite angles but did understand interior angles and were also able to
score two marks.

2 marks out of a possible 5 awarded.
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

QUESTION
29
29 The cost of a repair to a car is $245.74

Muhammad and Adam share this costinthe ratio 4:7

Muhammad has 10 000 yen.
$1=110yen

Can Muhammad pay his share of the cost?

You must show your working.
[4 marks]

Answer
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

MARK SCHEME

Q Answer Mark Comments
Alternative method 1
24574 = (4 + Tyor 22 .34 M1 4
M2 24574 x —
their 22.34 x 4 or 89.36 M1 dep 11
their 89.36 = 110 or 9829.6 M1 | o
98296 and Yes Al accept 9829 or 9830
29
Alternative method 2
24574 < (4 + Tyor 2234 M1 4
M2 24574 = —
their 22 34 = 4 or 89.36 M1 dep 1
10 000 = 110 or 90.9 or 91 M1
90(.9) and 89.36 and Yes Al accept 91
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT A

29 The cost of a repair to a car is $245.74
Muhammad and Adam share this cost intheratio 4 7
Muhammad has 10 000 yen.

§1 =110 yen

Can Muhammad pay his share of the cost?
¥'ou must show your working.

U M =393k
_3?_3%!_&3___ 329k Qﬂoﬂoh .
2 Ml eﬁnjoa _nis ok

[4 marks]

h‘ﬂmr .- R

EXAMINER COMMENTARY

and multiplying by 4 the second mark. The student then had the option of
converting their dollars to yen or 10 000 yen to dollars and has chosen the

equivalent to ‘Yes'.
4 marks out of a possible 4 awarded.

The student has used the ratio correctly: dividing by 11 gained the first mark

first option. The correct value is calculated and the student has given a clear
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INTERNATIONAL GCSE MATHS (9260-2C)
PAPER 2 EXAMPLE RESPONSES WITH COMMENTARY

STUDENT B

29 The cost of a repair to a car is $245.74
Muhammad and Adam share this cost intheratio 4:7
Muhammad has 10 000 yen.

$1=110yen

Can Muhammad pay his share of the cost?
[ You must show your working.

10 000 90 9%to=479T

[4 marks]

ogxt= 2§45 FW 4=4l (35

2G5.F4 1= 35\

6\.444 2511 =96.55

(6,000 = 116 = q6. 9

Answer 9 £.55

EXAMINER COMMENTARY

added so the first two marks were lost. The conversion mark was still

dollars and has gained the third mark.
1 mark out of a possible 4 awarded.

The student has used the ratio incorrectly. It was common to see weaker
students dividing by 4 but this student has divided by 4 and by 7 and then

available for changing their dollars to yen or 10 000 yen to dollars. This
student has shown the correct method for converting the 10 000 yen to
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FURTHER GUIDANCE AND CONTACTS

You can contact the subject team directly at

Please note: We aim to respond to all email enquiries within two working days.

Our UK office hours are Monday to Friday, 8am - 5pm local time.

OXFORD

INTERNATIONAL
AQA EXAMINATIONS

OXFORD INTERNATIONAL AQA EXAMINATIONS
GREAT CLARENDON STREET, OXFORD, OX2 6DP
UNITED KINGDOM

enquiries@oxfordagaexams.org.uk
oxfordagaexams.org.uk
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